PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS

ITEM / NO D' ARTICLE / ARTICULO : S808-780
DESCRIPTION / DESCRIPTION: VANITY STOOL/ TABOURET DE LA COIFFEUSE/ TABURETE DE TOCADOR

@

A B £y

x1 Chair seat x4 Chair leg x8 Nuts 95/16"x13x8mm *
x1 Siége de chaise x4 Patte x8 Ecrou @5/16"x13x8mm
x1 Asiento de silla x4 Pata x8 Tuerca ¥5/16"x13x8mm

= = 5—
2 3 @

x8 Lock washer @5/16" * x8 Flat Washer ©@5/16"x19x1.5mm* x1 Wrench key 13mmx88mm*
x8 Rondelle de blocage 5/16" x8 Rondelle plate #5/16"x19x1.5mm  x1 Cl¢ 13mmx88mm
x8 Arandela de Seguridad 95/16" x8 Arandela plana ©5/16"x19x1.5mm x1 Llave inglesa 13mmx88mm

* Replaceable Part

Page 1 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

ITEM / NO D' ARTICLE / ARTICULO : S808-780
DESCRIPTION / DESCRIPTION: VANITY STOOL/ TABOURET DE LA COIFFEUSE/ TABURETE DE TOCADOR

.

* Replaceable Part

Page 2 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM / NO D' ARTICLE / ARTICULO : S808-780
DESCRIPTION / DESCRIPTION: VANITY STOOL/ TABOURET DE LA COIFFEUSE/ TABURETE DE TOCADOR

x1 RS808 - 780 -SEAT- Chair seat x4 RS808 - 780 - LEG - Chair leg
Siege de chaise Patte
Asiento de silla Pata

x1 RS808 - 780-HWKIT-Hardware kit list * 44 RC-WH-NALL - White plastc nail
Liste des pieces de quincaillerie Clou en plastique
Lista del kit de materiales Clavo de plastico

* Replaceable Part

Page 3 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



